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SYLLABUS 1 As Par Your Prescribed Sybabus.

1. Choose the best option By pruﬁglrydfurfs_ g L
If you think that doing this maths problemis 2. Choose the incorrect part of the sentence,
pust try |t (A} Women are now working
{A) & piece of cake (B} in every felds
(B} ups and downs {C) like teaching, medicine
() odds and ends (D) law. business, aic,

READING

Diracton (2. Mo, 3 106} : Fill the blanks in this paragraph neededa,_ & .

with the right optians. {A) top-up

Wihen her friends amived, Suman 3 chips.and other. 1B} handed round

snacksand her sister 4 drinks. She wanl round the (T} poured oul

mom ___ 5 plasses u.rrirﬂm_ar'.'m' she noticed that anyvone (O} topping up

Direction (Q. Na, 7 and 8) : Choose the words that best 8 M you-are , wou are in favour of new
comphete the sentences idaas.
7. Hyou are _, you have extreme or very strong (A) progressive

views, (B) nnovaiive

{A) progressive {B) innovative (C) diplomatic

(C) diplomatic (D) radical (D) radical

ACHIEVERS SECTION

i -

9. Choosa the option which & dosest In meaning o the 1. Choose the bast option.
uncerined bold word The RBI Govemnor said in a press conference that the
Dapgled light filtered through he trees on o the ration’s economy was_____ yet.

iA) out of the foresis

{B) not oul of the trees
(A} Patches of (B) Rays {C) outof the treas

{C) Sfirring {D} Sianting (D) not out of the woods

ground.
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SYLLABUS

Saction =1 ; Physios: Electricity and Magnetism, Elscmomagnenc induction, Almating carmnt, Electrormagretic wives, Opics, Miodern Physics, Semicoedcion Elecranics
Chemistry | Sakations, Electrochemistry, Chemical Kinetics The & “and EBlock Elements, Coordmstion Compounds, Hilaakanas and Halnarenos, Moahak Phenols and
Ethers, Aldehwdes, Ketones and Carbsomlic fckds, Amines, Blomolecules
Secton = I : Higher Order Thinking Questions - Syllabuy as por Secion - 1.
section = 3 Relations and Functians, Inverse Trigonametri Fuslions, Matrioes and Deteminants, Continity and Diferentabiksy, Application of Dervaties, nfegrals,
Appbcatian of integraly, Differeritial Equatians. Vetor Algebra, Thrse Dimensianal Geametry, Probabilty, Linear Programming.

Section = 33 Reproduction, Genetics and Bvoluten, Bialogy i Homan WiHam, Biotechnofogy, Ecology.

-l

PHYSICS AND CHEMISTRY

A ray of light passes from vacuum into a medium of
refractive index . If the angle of incidence is found
to be twice the angle of relraclion, then the angle of
incidence is

(A) cos (w2) (B} 2cos! (w/2)

{C) 2sim' (D) 2sin (2

A capacitor of capacitance C, is charged to a potential
V¥, and then isolated. A small capacitor of capacitance
€ is then charged from C,. discharged and charged
again, the process being repeated v times. Due o
this, potential of the larger capacitor is decreased

to V. The value of C s
'l"' 'm
0 &[]
8y v

i m
© (%) o .::[,[[""_n] _,].
V v

A ray of light in a liquid of refraciive index 1.4,
approaches the boundary surface between th llguid
and air al an angle of incidence whose sine is 0.8,
Which of the following statements is cormect aboul
ihe bahavior of the light 7
{A) Itis impossible to predict the behavior of the: light

ray on the basis of the information supplied.
{B) The sine of the angle of refraction of the emergent

ray will be less than 0.8
(2} The ray will be internally reflectad,
10} Mong of thase

Uu]ul:
@ G| v

Five aromatic compounds are given as ;
L p-Methoxybenzaldehyde
I.  p-Hydroxyphemdacetaldehyde

. p-Hydroxyphenylmethyl ketone
V. p-Mathylbenzoic acid
V.o p-Hydroxyphemylvinyl ether

Mow, read the given passage and fll in the blanks by
salecling an appropriate opiion.

Compound(s) P! formis) a sitver mimor with Tollens’
reagent. Compound g gives positive iodoform
test while compound A on acid hydrolysis gives
1, d-dihydroxybenzena. Compound 2L can be readily
axtracted in aqueous NaHCO,, salution.

B @ B (s
(A 1 W (] I
By | 47 I W
cymy w V 1
o) 1 1 W V]

1.00 g of a non-electrolyle solute disscived in 50 g
of benzene lowered the fréezing point of benzena by
040 K, The freezing point depression constant of
benzene is 5.12 K kg mol-". The molar mass of the
solute is

{A) 456 kglmal {B) 352 g/mal
(D) 240 gimod,

When a compeund 'X* is reacted with PCI; and
then with NH,,, it gives '¥". When 'Y" is treated with
Bry and KOH, it produces *Z°. "Z ' on treatment with
MaMNQ., and HCI at 0°C and then on warming with
waler produces artho-cresol, Compound "X s

{&) o-toluic acid (B} o-chloroioluane

{C) o-bromotoluene (D) m-toluic acid.
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ACHIEVERS SECTION

7. Along straight wire carries a current i A particle having 8, Observe tha given graph carefully,

a positive charge g and mass m, kept at distance x, i
from the wire is projectad towards it with speed v as
showm in the figure. The closes! distance of approach
%) of charged parficle o the wire is

L ] :4

Emargy

L e ]
i
—3

) " Reaction pah g

The activation energy of the backward reaction,
) %, = xna'iw"”“' heal of reaction and threshold energy of thae reaction

e respectivaly are

(B) e = % (A} x=y yandx+y—z
(G} x. = xer™™ e (B) x+y+z y+zandz
(D} Koy = Hpa ™™ Foi8! (C) x+y yandx+y+z

D) s+ yandx—y—z

EMATICS
B I {1— %)+ J(1- %) = alx® - ) and 10. For non-zero vecloss 3, b, ¢,
dy 1—y"] (@xb)-c=|a] |B] |€|holds iff
_=f P — 1m.| i
ax =1 (A) @B=0.5E=0
¢ ] = o e

{A) f{-ﬂ-.!r’:l=% B fixy)=25 (8 wa—u,::a-n

2 b (C) E5=0,86=0
© tap=SF O A = (O §BZbic=baut

BIOLOGY

8. In which of the following embryonic slages does the Which phylogenetic free would best represent these
resuits?
e L] B

" G :
."-\.\Hm
- G

10, Human blood, when mixed with antibodies présant in

. HNO M P

. & W

| human blood, give maximum precipitation, w
(C)

It another animals blood is mixed with antibodies

presant in human blood, the percentage of precipitation
indicates avolutionary redationahip with that animal. i
K H

The following experimental resulls were obtaimed :
Species: Human (H) - 100%:; M - 37%; N - 75%; ()
0-T9% P-1T%

e Eaﬂﬂ}BFﬂpEHCh!&-‘IE{E'F —— e -



PATTERN & MARKING SCHEME

[} Mathematical Reasaning | ’
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Mathematics | Sectinm

No.of Questions | 15 T e ) A e
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SYLLABUS
Section = 1 1 Verbal anid HonoVeibal Reasoniig.
Section — 2 = Relations and Furctlions, Inverse Triganametnc Functions; Matnices and Determinants, Contingity and Diflecontiahily, Application of Demvatues, ntegrals,
Aopbeztion of insegrak) Bifferential Equations, Yector Algebrs, Thise Dimensiomal Geometny, Probabikty, Linear Frogmmming.

el
Section — 2 ; Numbers, Quantification, Nurerat Appications, Sohtions of Simulaneous Linear Equations, Matrices, Determinants, Apgplcation of Dertvatves, Integraton,
Anphcation of imegrations, Ditfenantial Eqmabiom, Probabilty, islerential Satistes, index numbers, Time-based data, Fnancial Mathemtics, Linear Programining.
Seption — 3 ¢ The syfabos ol the section will be based om the sylbadrs of Quistitatve Apiiude
Secthon ~ & ; Matrioss, Detersrinants, Applecation of Denvatives, infegration, Appfication of Integrations, Ditferential Equations, Lineal Programining, Prcbebility.

LOGICAL REASONING

1. Inthegiven letterseries, some of the lefters are missing What will be the code for METUFB?

which are given in that arder as one of the options below (4) st (B) 156881
it, Choose the coprect opion 1
a_ch abch a_cho bobe (C) Rd6E% {03 1 %66
(&) coche (B) chbac 3. There is a definite relationship between figures
{€) becba i ity P and €. Establish a similar relationship betwesn
2. Following letters are to ba coded as follows: figures R and S by selecting a figure from the opticns

Letter: ROAEIJMETBUIPWHF
Codes: 4 B3 5" 1Z06%DTEIOHE
While coding the given letters, foltowing conditions are

that would replace the (7)) in iigurae B

s P L
* ?
) |7 fa

alzoto be obeerved,
Conditions: =) (o) R o
(i} If the first letier is a consonant and the last ledier
i@ voweld, then both are to be coded as d. B P
{6) I bath the first and the last letters are consonants, (A é" (B} %
than bath are to be coded a4 the code far the last L
lntter. 5 -
(ui} AF the first letter |3 & vowel and the 1ast letter e % (D) +
i% 8 consonant, then their codes are lo be L L
inferchanged,

oy

. + (A 1 B 2 : I
=TI B Ed .
14 e &  The value of x for which the matrix product )
4 x-1 4542 & valua
@ a[m L e.[ ;T'{] i 2 0 7)-x 14x Tx
1 IR
1 x—1 A 1t e+2 V4 :: 2 3 ‘ 4 2
© 3liz) *© o 535 v I S s
M e is aqual 1o identity matrix is
% Dwegree of the differantial egualion 1 1
el (A - &) =
1+2[5‘:”~]2 59 g 2 3
£ . © - o 1
4 5
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APPLIED MATHEMATICS

a,

If. 4 and 8 are square malrices of the sams oeder and A
t5 mon-singuiar, then for a positive integer n, (A-'BAY s

) 15 B, units

20
D) =Zsg, uni
5 (D) asqunls

equal o - z ErkE
&, Records show that probability of a car breaking down
o f S
e ﬂ_?m [.E:' g Bj,’w whita driving through & certain unnal is 0.0004, The
S o A probahility that out of 2000 ears that drive through this
5. The area bounded by vy = x¥ + 2 y.awis. x = 1 and 1Lmnalxi: Ieast one will break is :
¥x=2|g (A) ot (B 1—&5
16 : 17 i 4
W e (B 5799, UnkN (C) 1-@5 (D) 1483

EVERYDAY MATHEMATICS

7. Acan lay raitway track betwean two given sfalions in B. Ina group of 6 boys and 4 girls, four children are to.
16 days and B can do the same job In 12 days. With be selected. In how many different ways can they be

1 fc i pobin 4 d

e holp of C. ey did the job in 4 days only. Then ¢ selected such that at least one bay should be there?

alore-can do the job n
1 2 (&) 159
{A) EE days {B) 95 days (B) 184
3 (€} 205
=y B

A

HIEVERS SECTION

= =

9.  Consider ihe following statements.
Statement 1 ; A tangent parallel 1o x-axis can be drawn
for fx) = (x — 14x— 2Z){x — 3) In the interval [1, 3],
Statement 2 : A horizontal tangent can be drawn in

Folle's thaorem,
Which of Ihe: following options is corract? i
(A} Bath Statement 1 and Statement 2 are inee. {a) Find the-eguation of the guadratic curve.
(B} Both Statement 1 and Statement 2 ana falss. (b) Find the values of i and ¢ respectively,
() Statement 1 is tue bul Statement 2 Is false, ia) {b)
(0} Statement 1.is false bul Statement 2 is true. (B) —x2_2x+8 2 8
10. The diagram shows a quadralic curve and a straight (B} »*+2x+8 6,4
ling y = e +:¢, They meet at the points P and Q on (C) x*—2x-8 4.6
the x-axis and p-axls respectively (D) —x—2x+8 8 2
Tolal Questioes - 50
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i1} Econoenics 12) Business i (3} Accountancy .
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| Marks per Ques. 1
SYLLABUS T FI.

Section - 1 : Introductary Macrosconomics, dien Economic Develogmen,

Section — 2 : Nature and Significance of Managemen, Principies of Management, Business Enviranment, Planiiing, Drgarising, Staffre Ditecting, Commolling, Firandal
Management, Finandal Markets, Marketing Management, Consumer Protaction.

Section ~ 3 ; Accourtting for Partmership Firem, Acoountiog Tor Comganios. Analysis of Financial Statements, Cash Hew' Stalement.
Section = & ; Higher Drder Thinking Juestions - Syilabus 35 perSaction-1, Seetinn 3 and Sectione1.
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ECONOMICS

1.

e
- A

I 1981, the share of forekgn equity. paricipation was
increased and in' many activities 100 par cent Foraign
Direct Invesiment (FDI) was permitied. Identify the
redarm.

[A) Liberalisation

(B] Privatisation

(C) Globalisation

1D} Both (A) and (C)

Why externalities are a limitation of taking GDP as an
index of welfare?

(&) It helps GDP to rise.

(B GOP fails to value the cost of such faciors.

() It results in a decrease In GDP

(D} It will haua ne effect an GOP,

From H'remrgdmam;wammaﬂ ﬁnl:f TEVENLE
deficH, fiscal deficit and primary defict

Fian capital expenditure = £ 120

Revense axpanditure =3 100

MNon plan capital expendibure = T 80

Revenue receipts = T 70

Recovery of loans and advances = ¥.140

Interest payments = T 30

A} Revenue deficit = T 40, Fiscal deficit = ¥ 90,
Primary deficit = ¥.60

(B} Rewvenue deficit = ¥ 30, Fiscal deficit = T 80,
Primary deficit = ¥ &0

(C) Revenue deficit =¥ 40, Fiscal deficit = ¥ 80,
Primary deficit = ¥ 30

(D Revenue deficit = ¥ 20, Fiscal deficit = T.60;
Primary deficlt = ¥ 30

Which policy was associated in Encmaslng lhE
interest of the cullivators to eam more incentive?
(A} Tillers to the land

{B} Incentives of the land

(5] Land to the tller

(D) Incentives lo.the cultivalors

B'IJETNI:SZ:- ETLII:IIEE

Managemenl ig & process ol
(&) Getting things done

(B] Achieving goals effectively
(G} Achieving goals: effichently
oy Al of these

Thea principles of managament are significant because
of

(A Fulfil Social Responsibiiity

(B] Adaplation to changing technalogy

() Optmum utilisation of resources

(D) Al of these,

Planning may nat guarantee success because
i&a] Top kevel plans and middle ievel management
implements

(B} Dwamm of business emironment
{C) Planning & fulunstic
{D] AR of thase.

Which of the Tl;ﬂlmmg cannot be a::kumrad by nunh'cll

function of 8 management?

(A} Controliing funciion can suitably modifies the
extesnal faciors of business environment.

(B} The controlling funclion |5 used o ensure that the
prganisation meels s business goals

{C) Confrofling function helps the organisations in
thair efforts o improve quality by varifying whether
the standards sef are accurate and objective,

{D) Controfling helps to reduce wastage of resources
therety increasing efficiency and effectiveness.

ACCOUNTANCY

X, ¥ and £ are partners shanng profits in the ratie of

81312, They decided to share future profits in the ratio
of 2 - 3 ; § with effect from 1% April, 2023. They also
decided to record the affect of following revaluations
without affecting the book values of assets and

liahilities, by passing single adjusting entry :

Book Revised

Fegure {in ¥} Figura {in T}
Land and Building 3,00,000 4 50,000
Plant and Machinery  4,50,000 4.20,000
Trade Creditors 1,50,000 1,35,000
Dutstanding Rent 1,35,000 1,B0,000

The mecessany single adpusting entry will be

{A) Dr.Z and Cr. X by ¥ 27.000
{B) Dr. X and Cr. Z by ¥ 27.000
(€} Dr. % and Cr. X by ¥ 27,000
{I:I} Dr KEMEFYWEETWD.

M Lid, issued 10,000 shares of T 50 each. The amount
of share was payable as follows ;

¥ 15 on-application, ¥ 10 on alioiment and balance of
first and final call, Appdications for 15,000 shares weara
received and allofment was made 1o all the applicants
on pro-rata basis. Directors declded o adjust excess
applicalion money towards aliotment. Calculate the
amounl ransferred to Share Allotment.

SUF | Sample Paper | Class-12  se—"



(A} T 60,000 2. For a manufacturing concem, Interest raceived by

(B) 70,000 ather financial enterprises is shown as ___ activily,
(C) T B5,000 however interest paid to other financial enterprises is
©) ﬁa_na piihesy BT shownas __ In cash fow statement,
11. Deprediation is charged on (A} Operating, Rnancing
{A) Cumrent Assets (B} Investing, financing
'[{E:JI' ;I:‘:ﬂdfﬂj A W (C} Financing, investing
ni 8
gﬂ:jl Mtn;m nd'r:asa. i SR hoeng g

13. From the following information, calculate return on (&) Both siatements 1 and 2 are frue,
investment (of raturn on capital employed) (B) Both statements 1 and 2 are false.
Particulars T ¥ (T} Statement 1is true but statement 2 iz falsa.
Ehﬂﬁ—' Capital ' 5,00,000 (D} Statement 1 is false but siatement 2 |5 true,
| Reserves and Surplus 2,50,000 | % i Sl Fos .
Net Fixed Assels 22.50,000 iy Ma e columnsg and s:alnlacl ccu‘raﬁn?hnn.
Non-cument Trade Investments | 2,50,000 Column | | Column ii |
Current Assets [11.00.000 _ . | Being answarable for the |
10% Long-term Bomowings 20,00,000 il ks S LU et
Current Liabilities 8,50,000 | Right of an individual to
NGB FYOvisions L b | Responsibiity | ) | SomMand his subordinates
M Profit before Tax is # 6,00,000, i 5 ¥ |l and io take action within
(A) 208:08% (B) 38.09% the scope of his position
(C) 49.09% (0} 9.09% .. | Difficulty of coordination for |
i S ek | Accountablliby | (i) ;
14, Read the following statements and select the correct | a multi-product company
opdion,
plicn Furicticaal . Uhllgatmnﬂcﬂa subordinate
Statement 1 : Great Luap Forward (GLF) campaign )| st | 1) |10 propery perform the
initiated in 1968, simed at industrialising | sssghad guty.
the country on a massive scale, {a) (b) {e) (d}
Statement 2 : Under great Proletarian Cultural i) {?} ':i_';' [i_"fj' {ji_l}
Revalution, infroduced by Maa in 1965, (B) {vp ) (W) )
students and professionaks were sent (C) (i} {iv) (i) (i)
to work and leam from the countryside, (D} (i) (i) (i} ik
SeC
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